Option 3 (fixed bracket) : Option 2 (slide bracket) : Option 1 (slide bracket) Example: Anti Static Bar easily slided on bracket

e “’ \‘U" i S Qa \‘\Uﬂ é = o e’j:‘; LO\
i = : A LI__T_[Q : T L\, - | J I S

,

' | T
67 28 g L 70, 8 J 28 | L 70, 8 50

Z ¢
locking screw bar . locking screw bar locking screw bar ;
T I T \"‘ |
<z S e e X [ B
sl 4
| | 'i‘ | )
+ Locking screw bracket + locking screw bracket

Mouting bolts or screws M5 (not included)

(type depending on option) SlMCO@ Name: Bracket Bars, maunting options Drawn: MvN [ Part no: 4532000100

o oY orers s | NOT e | |Date: 5-10-2012| A3 | 11 | 1@ [erno0n3-032 |checks - [owa. no: 15320100/C




Total length (= Effective length + 205)

= 30
L [
oN NISE HOMVRAED HOA ONNLETNVESNNEKSE Ausdwod muwy oq Susgenneu opms ma&i‘:xg "M’l ‘Na coup @3WH§ =5 o
© e \/ )QDWIS | xg Ases sewioyey LT R e 3| o
o o e o XCLO0XALV/IBJO0SBE | O ApZ -Indul|AX X3 As83 O Xeuloped :  edAL
JA Ja 1
e — 1l Farth stud ' '
\ Slidable bracket L o J cable =
(diameter outside #5mm;
50, 34mm”)
- Maximum coverage = Effective length + 60 (25?‘:5 (=2-><_) - Cable length according to order
[ Teo] T ] (ol |\ .
q - ] |
o w
@ ||
LU (=) U Hel g
30 175 L ]
s ey elag = S
Effective length:
Ex : 270 - 2790 mm (steps 180 mm)
Ex Speed: 90 - 2790 mm (steps 60 mm) | Hose length according
to cable length
R¥ min. R (fixed installation) = 25mm
Cable exit options Parts separate to order min. R (flexible installation) = 65mn
Included Mounting brackets with mounting options
-
."‘ “‘I P/N: 4532000100 Prackets
I ’ Tot. length | QTY
w S Protective hose Fitting ATEX Hose clip ATEX 270 - 990 2
ATEX P/N: 9370521017 P/N: 9250101013 1050 - 1850 | 3
P/N: 98380531320 needed: 1 piece needed: 4 pieces/m 25,1 2010 - 2970 4
Length according T
to cable length o o S —

s

Total Length

(= Eff.L. + 210

< —
~— o 4 i | L5
- CREek X
Optional Mounting brackets (Stainless steel) % R{I *3 72) ol — B

fixed bracket 70, 8 4 8{5 o |

L . | J
swsw T-slot Not incl uded: slide bracket

1§

- = P/N: 7524000155 | Mouting bolts or screws M5 slide bracket
Ex Certified Product ““c/ (type dependjng on Optjon)
No mgdifications permit- Total lenath Thread M6x35 mm » . .
ted without the approval 9 /N, 7524000157 SlMCO@ Neme: Performax (IQ) Easy Ex (Profective hase version) Drawn: RJ | Part no.: —
of the "authorised person" (= Eff.L. + 205 ' A ITW Company CAD generated | Dimensions
www. simco-ion.nl Tel: +31 (0)573 288333 | NOT updated in mm | Dafe: 27-3-2017 [AS|M: 1:2 6@ ECN- Check: - Dwg. no: 1 5300000/D




\_JEIODCH VO ey |

| §
I ===V | @0 55 ooy

S | | @ODWIS

ATEX ZONE

NON-ATEX ZONE

To be ordered seperately:

1

Protective hose ATEX

Item nr. 8380531320

Fitting ATEX with nut M12x1,5

Item nr. 5055000210

Hose clip ATEX

Item nr. 9250101013, needed 4 pieces/meter hose
Cable clamp 5 mm

Item nr. 8250101104, needed 4 pieces/meter cable
Status Module

Item nr. 4530000300, needed one Status Module per bar

: Conmect earth wire (min 4 mm*) to PC (Protected earth)

Ex Certified Product

No modifications permit-
ted without the approval
of the "authorised parson”

SIMCO®

An T Company

v, sinco-fon.al  Tel: +31 (00573 39R353

[Nome: Performax Q) Easy EX (Speed! instullation overview | orown RJ 4 |part nps —
o e | |0 286200 [3]n 11 [ 1@ |

wg. o: 15300110




Power Cord IEC 320 Zm

9146340620

DIN rail Power supply
100-240V AC to 24V DC 104
7518020435 (max. 16 bars)

DIN rail Power supply
100-240¥ AC to 24V DC 4A
7519020425 (max. 5 bars)

DIN rail Power supply (UL)
100-240V AC to 24V DC 3, 3A
7919020430 (max. 5 bars)

Ex Certified Product

No modifications permit-
ted without the approval
of the "authorised person”

Desktop Power supply
100-240V AC to 24V DC
4524001000 - 5m cord
4524001002 - 15m cord

Ppp——

-----

FrAscsssssssapacasapmanasnasthasesaqy

Connector device M12 female angled

5 pole (screw connections)
7519020355 - @4-6 mm cables
7519020356 - #6-8 mm cables
Connector device M12 female straight
5 pole (screw connections)
7519020350 - @4-6 mm cables
7519020351 - #6-8 mm cables

ATEX

- -
---------

Protective hose ATEX

9380531320 per m
Hose clip ATEX

9250101013 needed 4 pieces /m hose

Fitting ATEX
9370521017

/ONE

NON-ATEX

Status Module
Performax (IQ) Easy EX
4530000300

Cord device M12 female angled 5 pole
7519020375 - 5 m, unshielded
7519020376 - 10 m, unshielded

Cord device M12 female straight 5 pole
7519020365 - 5 m, unshielded
7519020366 - 10 m, unshiel ded

/UNE

Bemark:

- The Status Module Performax (IQ) Easy EX has one connection for a bar

An ITW Company

SIMCO®

Name: Performox Easy EX (Speed) system overview Drawn: R J

Part no: =—

CAD generated | Dimensions

wew.sinca-ton.nl  Tel: +31 (0)573 268333 | MOT updated in_mm Date: 2-2-2017 |A3|M: 1:1

EHS) v tnﬁ/fﬁ

Owg. ro: 153001 OO/A




22,4

i
e N L
VRV SNOTEIVZYH H
© o I =5 NI 28 LON 0T
™ k N
o vvv L
] \ N
B 28,3 o
TN
Fuse 0,5 AT with 1500 A
H B 46 o breaking capacity included

[ UOIOIUS MMM

nne4
Aqpuels
)

uoneJledo U]
;UCRERIPY] @'

¥/ UQ wey
8/Y0 AH

=

64
1)
(2)
eno
(%)
)]

34

Status LED

O
O
(zH 1) m
JBg plepueis
o
D
D
D
D

WO UOL-OIUMS A

/I

\ Included, only needed

4,5

%
%
=)

O
O
O
Jeg ©l
(o) ODWIS
()
©

S \\_J/UFT” 74%” f for cable without hose

Ex Certified Product
No modifications permit-
ted without the approval
of the "authorised person"
58
SIMCOW Name: Status Madule Performax (IQ) Easy Ex Drawn: RJ |Part no: 4530000300
T s | rerebed [ Dimensions e, 232901 3| 1,5:1 | 1@} [eon- Check: - |Dwg. no: 15300300,/C




